Non-Vehicular Source Fees Fiscal Year 2010-2011

Facilities

ID	District	Feepayer	2008 Emissions (Tons)	\$ Per Ton Fee	Fee
12626	BAAQMD	Valero Refining Company	7,245	\$176.85*	\$1,281,278
14628	BAAQMD	Tesoro Refining and Marketing	5,596	\$176.85*	\$989,653
11	BAAQMD	Shell Martinez Refinery	3,801	\$176.85*	\$672,207
10	BAAQMD	Chevron Products Company	2,129	\$176.85*	\$376,514
22	BAAQMD	Conoco Phillips Refining Company	1,926	\$176.85*	\$340,613
17	BAAQMD	Lehigh Southwest Cement Company	1,868	\$176.85*	\$330,356
16	BAAQMD	Conoco Phillips - San Francisco	683	\$176.85*	\$120,789
1438	BAAQMD	New United Motor Manufacturing	431	\$176.85*	\$76,222
30	BAAQMD	Owens-Brockway Glass Container	294	\$176.85*	\$51,994
49	CCAPCD	Pacific Gas & Electric - Delevan Compressor Station	274	\$176.85*	\$48,457
9	EKAPCD	California Portland Cement Company	4,309	\$176.85*	\$762,047
21	EKAPCD	National Cement Company	1,735	\$176.85*	\$306,835
28	EKAPCD	U.S. Borax	790	\$176.85*	\$139,712
20	EKAPCD	Lehigh Southwest Cement Company	740	\$176.85*	\$130,869
15	ICAPCD	Imperial Irrigation District	339	\$176.85*	\$59,952
1186	MBUAPCD	Cemex	472	\$176.85*	\$83,473
100005	MDAQMD	Cemex - Black Mountain Quarry	4,785	\$176.85*	\$846,227
11800001	MDAQMD	Mitsubishi Cement	2,709	\$176.85*	\$479,087
1200003	MDAQMD	TXI Riverside Cement Company	1,727	\$176.85*	\$305,420
900002	MDAQMD	Searles Valley Minerals	1,709	\$176.85*	\$302,237
1500039	MDAQMD	Pacific Gas & Electric - Topock Compressor Station	1,431	\$176.85*	\$253,072
3100068	MDAQMD	Southern California Gas - South Needles	948	\$176.85*	\$167,654
50001051	MDAQMD	Ace Cogeneration Company	629	\$176.85*	\$111,239
1500535	MDAQMD	Pacific Gas & Electric - Hinkley Compressor Station	625	\$176.85*	\$110,531

ID	District	Feepayer	2008	\$ Per Ton Fee	Fee
			Emissions (Tons)		
3100069	MDAQMD	Southern California Gas - North	387	\$176.85*	\$68,441
		Needles			
1.05E+08	MDAQMD	Reliant Energy Coolwater, Incorporated	311	\$176.85*	\$55,000
3101437	MDAQMD	Southern California Gas - Blythe	278	\$176.85*	\$49,164
100006	MDAQMD	Cemex - River Plant	273	\$176.85*	\$48,280
59	NCUAQMD	Pacific Gas & Electric - Humboldt Bay Plant	1,163	\$176.85*	\$205,677
3	NSAQMD	Sierra Pacific Industries	318	\$176.85*	\$56,238
12	SBCAPCD	Celite Corporation	743	\$176.85*	\$131,400
800089	SCAQMD	Exxon Mobil Oil Corporation	1,950	\$176.85*	\$344,858
131003	SCAQMD	BP West Coast Prod. LLC BP Carson Ref.	1,948	\$176.85*	\$344,504
800030	SCAQMD	Chevron Products Company	1,672	\$176.85*	\$295,693
800436	SCAQMD	Tesoro Corporation	1,108	\$176.85*	\$195,950
800363	SCAQMD	Conoco Phillips Company - Wilmington	923	\$176.85*	\$163,233
800362	SCAQMD	Conoco Phillips Company - Carson	644	\$176.85*	\$113,891
800181	SCAQMD	California Portland Cement Company	526	\$176.85*	\$93,023
114801	SCAQMD	Rhodia, Incorporated	340	\$176.85*	\$60,129
800026	SCAQMD	Ultramar, Incorporated	321	\$176.85*	\$56,769
44577	SCAQMD	Long Beach City, SERRF Project	297	\$176.85*	\$52,524
2	Shasta Co. AQMD	Lehigh Southwest Cement Company	533	\$176.85*	\$94,261
43	Shasta Co. AQMD	Wheelabrator Shasta E.C.I.	499	\$176.85*	\$88,248
477	SJVAPCD	Pilkington North America, Incorporated	770	\$176.85*	\$136,175
1141	SJVAPCD	Chevron USA, Incorporated	610	\$176.85*	\$107,879
2234	SJVAPCD	Occidental of Elk Hills, Incorporated	579	\$176.85*	\$102,396
1547	SJVAPCD	Aera Energy LLC	387	\$176.85*	\$68,441
1128	SJVAPCD	Chevron USA, Incorporated	370	\$176.85*	\$65,435
767	SJVAPCD	J R Simplot Company	354	\$176.85*	\$62,605
593	SJVAPCD	Owens-Brockway Glass Container	332	\$176.85*	\$58,714
801	SJVAPCD	Saint-Gobain Containers, Incorporated	310	\$176.85*	\$54,824

			Emissions (Tons)		
2073 S.	SJVAPCD	Covanta Stanislaus, Incorporated	295	\$176.85*	\$52,171
948 S.	JVAPCD	PPG Industries	281	\$176.85*	\$49,695
1662 S.	SJVAPCD	Gallo Glass Company	260	\$176.85*	\$45,981

Total 65,977 \$11,668,032

Legend

BAAQMD: Bay Area Air Quality Management District
CCAPCD: Colusa County Air Pollution Control District
EKAPCD: Eastern Kern Air Pollution Control District
ICAPCD: Imperial County Air Pollution Control District

MBUAPCD: Monterey Bay Unified Air Pollution Control District
MDAQMD: Mojave Desert Air Quality Management District
NCUAQMD: North Coast Unified Air Quality Management District
NSAQMD: Northern Sierra Air Quality Management District
SBCAPCD: Santa Barbara County Air Pollution Control District

SCACAMA

SCAQMD: South Coast Air Quality Management District
Shasta Co. AQMD: Shasta County Air Quality Management District
SJVAPCD: San Joaquin Valley Air Pollution Control District

^{* \$176.85 = \$137.36} Base Fee + \$39.49 Supplemental Fee

Non-Vehicular Source Fees Fiscal Year 2010-2011

Architectural Coatings

Feepayer	2008 VOC	\$ Per Ton	Fee
. •	Emissions	Fee	
	(Tons)		
Ace Hardware Corporation	306	\$137.36	\$42,032
Akzo Nobel Paints	1,180	\$137.36	\$162,085
Behr Process Corporation	3,226	\$137.36	\$443,123
Benjamin Moore & Co.	811	\$137.36	\$111,399
Dunn-Edwards Corporation	1,229	\$137.36	\$168,815
Frazee Industries	908	\$137.36	\$124,723
Gardner Asphalt Corp.	262	\$137.36	\$35,988
Henry Company	363	\$137.36	\$49,862
Kelly-Moore Paint Company, Inc.	1,944	\$137.36	\$267,028
PPG Industries, Inc.	348	\$137.36	\$47,801
Rust-Oleum Corporation *	861	\$137.36	\$118,267
Sherwin-Williams Company, The	4,250	\$137.36	\$583,780
Stoncor Group *	147	\$137.36	\$20,192
Tremco Group *	167	\$137.36	\$22,939
Valspar Corporation	596	\$137.36	\$81,867
Vista Paint Corporation	329	\$137.36	\$45,191
William Zinsser & Co. *	1,954	\$137.36	\$268,401
To	otal 18,881		\$2,593,494

Total 18,881 \$2,5

^{*} Part of RPM International, Inc., but billed directly

Non-Vehicular Source Fees Fiscal Year 2010-2011

Consumer Products

Feepayer	2008 VOC Emissions (Tons)	\$ Per Ton Fee	Fee
3M Company	665	\$137.36	\$91,344
3M Company (for Bondo Corporation)	71	\$137.36	\$9,753
Aaron Industries	402	\$137.36	\$55,219
Ace Hardware Corporation, Paint Division	1,085	\$137.36	\$149,036
Alberto-Culver USA, Incorporated	398	\$137.36	\$54,669
Avon Products Incorporated	327	\$137.36	\$44,917
BASF Construction Chemicals, LLC	365	\$137.36	\$50,136
Bath & Body Works / The White Barn Candle Company	484	\$137.36	\$66,482
Bissell Homecare, Incorporated	30	\$137.36	\$4,121
Chemical Specialties Manufacturing Corporation	23	\$137.36	\$3,159
Colgate-Palmolive Company	287	\$137.36	\$39,422
Coty Incorporated	406	\$137.36	\$55,768
CRC Industries, Incorporated	796	\$137.36	\$109,339
DAP, Incorporated	96	\$137.36	\$13,187
Diversey, Incorporated	834	\$137.36	\$114,558
Ecolab	461	\$137.36	\$63,323
Henkel Corporation (for Henkel of America)	348	\$137.36	\$47,801
Homax Holdings, Incorporated	265	\$137.36	\$36,400
ITW Consumer (formerly ITW Performance Polymers)	1	\$137.36	\$137
ITW Dymon	5	\$137.36	\$687
ITW Fibre Glass Evercoat	92	\$137.36	\$12,637
ITW TACC	3	\$137.36	\$412
ITW Texwipe	14	\$137.36	\$1,923
Kay Chemical Company	97	\$137.36	\$13,324
Kop-Coat, Incorporated	10	\$137.36	\$1,374
L'Oreal USA	633	\$137.36	\$86,949
LPS Laboratories	26	\$137.36	\$3,571
Moc Products Co., Incorporated	393	\$137.36	\$53,982
Parfums de Coeur	272	\$137.36	\$37,362

Feepayer	2008 VOC Emissions (Tons)	\$ Per Ton Fee	Fee
Penn Champ, Incorporated	238	\$137.36	\$32,692
Permatex, Incorporated	104	\$137.36	\$14,285
Personal Care Products, Incorporated	450	\$137.36	\$61,812
Radiator Specialty Company	556	\$137.36	\$76,372
Reckitt Benckiser, Incorporated	2,591	\$137.36	\$355,900
Republic Powdered Metals, Incorporated	5	\$137.36	\$687
RPM Wood Finishes, Incorporated (for Guardian Produc	34	\$137.36	\$4,670
Rust-Oleum Corporation	892	\$137.36	\$122,525
S.C. Johnson & Son, Incorporated	1,669	\$137.36	\$229,254
Safeway, Incorporated	421	\$137.36	\$57,829
Shell Lubricants (formerly SOPUS Products)	471	\$137.36	\$64,697
SSDC, Incorporated	41	\$137.36	\$5,632
Sunnyside Corporation	988	\$137.36	\$135,712
Supervalu, Incorporated (formerly Albertson's,	586	\$137.36	\$80,493
Incorporated			
Target Corporation	283	\$137.36	\$38,873
The Clorox Company	1,706	\$137.36	\$234,336
The Procter & Gamble Company	3,748	\$137.36	\$514,825
The Sherwin-Williams Company	3,939	\$137.36	\$541,061
The Testor Corporation	50	\$137.36	\$6,868
The Valspar Corporation	258	\$137.36	\$35,439
The Valspar Corporation, Architectural Coatings Division	58	\$137.36	\$7,967
The Valspar Corporation, Engineered Polymer Solutions	30	\$137.36	\$4,121
The Valspar Corporation, Valspar Refinish Division	3	\$137.36	\$412
The Valvoline Company	420	\$137.36	\$57,691
Unilever Personal Care-North America	1,853	\$137.36	\$254,528
Unisource Worldwide, Incorporated	314	\$137.36	\$43,131
Victoria's Secret Beauty Company	385	\$137.36	\$52,884
Vi-Jon, Incorporated (formerly Cumberland Swan Holdin	296	\$137.36	\$40,659
W.M. Barr	2,533	\$137.36	\$347,933
Wal-Mart Stores, Incorporated	2,054	\$137.36	\$282,137

Feepayer	2008 VOC Emissions (Tons)	\$ Per Ton Fee	Fee
WD-40 Company	1,418	\$137.36	\$194,776
Wynn Oil Company	27	\$137.36	\$3,709
Zep, Incorporated	488	\$137.36	\$67,032
Zinsser Company, Incorporated	103	\$137.36	\$14,148
Tota	ıl 37,901		\$5,206,081

Note: Companies with VOC emissions below 250 tons are subsidiaries that were billed separately per the instruction of parent companies